FEXE

(F6) TERFELNR, BFEEK, BEHEK

<ZHRE>

FE FH 20214 £ 20224F 2023FE &E

HOE 2 £ B O( A 3, 630 3, 559 3,513

% > b B & & H (B) 88 107 102

g BEXEX (B) ~ (A) *100 2.4 3.0 2.9

# 2 b R EEHEH (C) 33 20 30 1244 (2021) | 14 (2022) | 14 (2023)

BREE (C) ~ (A) %100 0.9 0.6 0.9

= OE 2 £ B O( A 690 700 694

- Mﬁ > b B & F H (B) 16 16 18

;—?‘E Eé BEE (B) ~ (A) %100 2.3 2.3 2.6
= > 5 & % & H (C) 1 6 4[24 (2021) | 14 (2023)

& BEE (C) / (A) *100 0.6 0.9 0.6

OB 2 £ #H (A 1,474 1,481 1,481

B > b B & F H (B) 35 31 43

g BEE (B) ~ (A) 100 2.4 2.1 2.9

# 5 b5 B % EH (C) 13 10 12

BEE (C) ~ (A) *100 0.9 0.7 0.8

T E ¥ £ % ( A) 5, 794 5, 740 5, 688

> b B & F H (B) 139 154 163

H BEZE (B) ~ (A) 100 2.4 2.7 2.9

5 b R 2 &HH (C) 50 36 46

BEZE (C) ~ (A) %100 0.9 0.6 0.8
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g B 20214 20224 20234 E -
OE 2 £ B O( A 1,921 1,877 1, 862
#E > b B & & H (B) 46 58 61
;g BEEXR (B) ~ (A) %100 2.4 3.1 3.3
# 2 b R ZEEHEH (C) 14 18 17 (240 (2021) | 34 (2022) | 34 (2023)
BEE (C) ~ (A) %100 0.7 1.0 0.9
B T OE ¥ £ ¥ O A) 732 698 760
_,_\’é > b B & & & (B) 8 18 16
%%ﬁ BEEXR (B) ~ (A) %100 1.1 2.6 2.1
(4 55 B%EK (C) 3 I 6
%ﬁ% T BEE (C) ~ (A) %00 0. 4 0.1 0.8
?rs B HOE ¥ £ B O( A 1,016 1,132 1,196
R > b B & F #H (B) 24 18 31
E BEEXR (B) ~ (A) %100 2.4 1.6 2.6
E 5 b5 B %2 &EH (C) 8 14 6 |244 (2022)
BREE (C) ~ (A) %100 0.8 1.2 0.5
2N OE ¥ £ B O( A 700 796 772
> 6 B &£ F % (B) 14 14 14
ﬁi;f BEZE (B) ~ (A) %100 2.0 1.8 1.8
4z 5 b R ¥ EHEH (C) 6 3 7
) B2E (C) ~ (A) %00 0.9 0. 4 0.9
T E 2 £ % ( A) 4, 369 4, 503 4, 590
> b B & F H (B) 92 108 122
B BER (B) ~ (A) %100 2.1 2.4 2.7
5 b R 2 FHH (C) 31 36 36
BEE (C) ~ (A) *100 0.7 0.8 0.8
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g B 20214 20224 20234 E -
OE 2 £ B O( A 1,274 1,290 1, 280
12 > b B & & H (B) 38 21 26
E BEEXR (B) ~ (A) %100 3.0 1.6 2.0

# 5 b B %2 &EH (C) 13 13 5 144 (2021) | 24 (2022) . 24 (2023)

BEE (C) ~ (A) %100 1.0 1.0 0.4
OE 2 £ B O( A 1,330 1,258 1,274
= > 5 BB & & % (B) 43 38 30
g BEEXR (B) ~ (A) %100 3.2 3.0 2.4

# > b R EEHEH (C) 10 17 11 (14 (2021) . 144 (2023)
o} BEE (C) ~ (A) *100 0.8 1.4 0.9
J?rs E3| T E ¥ £ O (A ) 1, 262 1,237 1, 254
/@" > b B & F #H (B) 35 40 43
%' BEE (B) ~ (A) *100 2.8 3.2 3.4

%4; > 56 8B %A % (C) 15 10 12 1140 (2021) | 24 (2023)
g BHEE (C) ~ (A) %00 1.2 0.8 1.0
OE ¥ £ B O( A 513 542 565
& > b B & F H (B) 17 12 18
F"’é BERXR (B) ~ (A) 100 3.3 2.2 3.2
# 5 b5 B % EH (C) 5 7 2
BEHE (C) ~ (A) *100 1.0 1.3 0.4
T E 2 £ % ( A) 4, 379 4,327 4, 373
> b B & F H (B) 133 111 117
B BER (B) ~ (A) %100 3.0 2.6 2.7
5 b R 2 FHH (C) 43 47 30
BEE (C) ~ (A) *100 1.0 1.1 0.7
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S 5 2021 & 20224 20234 & e
OE 2 £ B O( A 280 302 307
0 > b B & & H (B) 10 8 14
F BER (B) ~ (A) %100 3.6 2.6 4.6
i > b R F HH (C) 9 6 4 146 (2021)
BEE (C) ~ (A) %100 3.2 2.0 1.3
OE 2 £ B O( A 284 308 302
) > b B & & & (B) 6 4 8
§ BEEXR (B) ~ (A) %100 2.1 1.3 2.6
# 5 b B % & #H (C) 1 1 4 |14 (2021)
BEZE (C) ~ (A) %100 0. 4 0.3 1.3
a0 HOE ¥ £ B O( A 350 356 361
i > b B & F #H (B) 6 3 6
iz; BEEXR (B) ~ (A) %100 1.7 0.8 1.7
¥ 5 5 R % &HH% (C) 3 2 2
i o)
T BER (C) ~ (A) 100 0.9 0.6 0.6
?rs =3 OE ¥ £ B O( A 579 557 596
] = 558 % % & (B) 21 o1 21
2 BERXR (B) ~ (A) 100 4.1 3.8 4.0
é > 5 & F&H H (C) 9 12 T |14 (2021) | 24 (2022) . 14 (2023)
B BEE (C) ~ (A) *100 1.6 2.2 1.2
== H OE ¥ £ H (A ) 531 541 539
&3 55 BEEH (B) 20 13 3
éli BEE (B) ~ (A) 100 3.8 2.4 2.4
B 55 B% &EH (C) 7 7 6
& BH2E (C) ~ (A) *00 1.3 1.3 1.1
OE ¥ £ ¥ O( A) 565 579 578
r;ng‘ > b B & F H (B) 17 14 20
15 BER (B) ~ (A) 100 3.0 2.4 3.5
§ 2 5B % A % (C) 18 10 6 [14 (2021)
RBRFEE (C) ~ (A) %100 3.2 1.7 1.0
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FE FH 2021 20225 % 20235 & &E
HE T OE O £ B O( A) 473 491 446
14 55 B & EH (B) 16 I 6
~ R BEEXR (B) ~ (A) %100 3.4 2.2 1.3
o1 55 &% & H (C) 6 6 7
Ba BZEE (C) ~ (A) *100 1.3 1.2 1.6
OE 2 £ B O( A 403 422 425
§ > b B & & & (B) 9 14 19
i BEHE (B) ~ (A) %100 2.2 3.3 4.5
- A 5 58 ¥ EH (C) 2 3 9
T BER (C) ~ (A) 100 0.5 0.7 2.1
?B HOE ¥ £ B O( A 262 297 293
] £ 55 BEEHR (B) : 4 3
ﬁ BER (B) ~ (A) %100 0.4 1.3 1.0
;4 > 5 & % &H H (C) 0 3 L (14 (2021)
BEZE (C) ~ (A) %100 0.0 1.0 0.3
A HOE ¥ £ H (A ) 291 295 284
= 558 & % H (B) 4 10 5
ﬂé BERXR (B) ~ (A) 100 1.4 3.4 2.8
= 55 & % & 8 (C) > ; .
# BEE (C) ~ (A) *100 0.7 1.7 0.4
T E 2 £ % ( A) ,018 4,148 4,131
> b B & F H (B) 113 102 121
& BER (B) ~ (A) %100 2.8 2.5 2.9
5 b R 2 FHH (C) 57 55 47
BEE (C) ~ (A) 100 1.4 1.3 1.1
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S 5 2021 & 20224 20234 e
A OE 2 £ B O( A 3, 928 4, 251 4,183
% X > b B & & H (B) 130 111 114
?rs g BER (B) ~ (A) %100 3.3 2.6 2.7
i ;%J: 55 8B % &FH (C) 45 43 44 |24 (2021) | 64 (2022) . 94 (2023)
BEE (C) ~ (A) %100 1.1 1.0 1.1
OB ¥ £ H (A 3,928 4, 251 4,183
> b B & F H (B) 130 111 114
H BEHE (B) ~ (A) %100 3.3 2.6 2.7
> b R Z &HH (C) 45 43 44
BEE (C) ~ (A) %100 1.1 1.0 1.1
HOE ¥ £ B O( A 624 629 631
g > b B & F #H (B) 11 7 9
ﬂ BER (B) ~ (A) *100 1.8 1.1 1.4
e 1 55 8% &% (C) 6 4 4
Ez REE (C) ~ (A) x100 1.0 0.6 0.6
g = OE ¥ £ B O( A 593 607 638
e ﬁ 55 @BEEH (B) 1 12 2
BE BE#E (B) ~ (A) 100 1.9 2.0 1.9
fé > 5 B F A % (C) 7 4 9 [14 (2022)
¥F B2E (C) ~ (A) %00 1.2 0.7 1.4
T E 2 £ % ( A) 1,217 1,236 1, 269
> b B & F H (B) 22 19 21
B BER (B) ~ (A) %100 1.8 1.5 1.7
5 b R 2 FHH (C) 13 8 13
BEE (C) ~ (A) *100 1.1 0.6 1.0
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g B 20214 20224 20234 E -
B o OE 2 £ B O( A 901 1, 189 1, 240
33 (53 > b B & & H (B) 0 26 38
ﬂg g BEEXR (B) ~ (A) %100 0.0 2.2 3.1
;%“B ;%J: 55 B % &FH (C) 12 9 11 |24 (2021) . 64 (2022) . 94 (2023)
BEE (C) ~ (A) %100 1.3 0.8 0.9
OB ¥ £ H (A 901 1, 189 1, 240
> b B & F H (B) 0 26 38
H BEHE (B) ~ (A) %100 0.0 2.2 3.1
> b R Z &HH (C) 12 9 11
BEE (C) ~ (A) %100 1.3 0.8 0.9
o B HOE ¥ £ B O( A 445 595 625
R (33 > b B & F #H (B) 0 11 20
fﬁ fﬁ BEEXR (B) ~ (A) %100 0.0 1.8 3.2
z i 5 5 R % &HH% (C) 5 8 6 |14 (2021)
BREE (C) ~ (A) %100 1.1 1.3 1.0
OE ¥ £ B O( A 445 595 625
> b B & F H (B) 0 11 20
H BEE (B) ~ (A) 100 0.0 1.8 3.2
> b R ZE&H M (C) 5 8 6
BEHE (C) ~ (A) *100 1.1 1.3 1.0
T E 2 £ % ( A) 25, 051 25, 989 26, 099
> b B & F H (B) 629 642 716
FIRESE BEE (B) ~ (A) 100 2.5 2.5 2.7
5 b R 2 FHH (C) 256 242 233
BEE (C) ~ (A) *100 1.0 0.9 0.9
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<Etme>

EF B
20215 % 20224EE
— E3 2023 E
. s - ‘ ( A ) 3 2 e
5 5 b B & FH H (B ) 0 :
Y2 =2 O
§ BEER (B) ~ (A) %100 0.0 0.0 :
= . . 12.5
2z 2 EHEH (C) 0 0
=2 (C) ~ (A) %100 0.0 ;
= T E ¥ £ % (A 8 - —
=2 12 13
i g &5 % (B) 3 3
y BEE (B) ~ (A) %100 :
= . (s 37.5 25.0
o 5 b B ¥ HE H (C) 0 —
BEE (C) ~ (A) %100 0.0 ; 2
| e ’ . 0.0 15. 4
25 o 2 :5; £ % ( A ) 9 13
2 o) 3 4 .
* i H #H (B) 2 2
L] ; BEXR (B) ~ (A) 100 :
2 iﬁ T ‘ 22.2 15. 4 6.7
2 2 EHE B O(C) 0 0 .
EBEHR (C) ~ (A) %100 0.0 ;
- AR . 0.0 0.0
= 2 ~ O A ) 3 1
ﬁi 5 b B & F B (B) 1 :
=3, 3% 1
P2 O
IQ{ESI ETEEZ%ZE(B) 7 (A ) %100 33.3 100. 0
: - (8 ‘ . 0.0
% > B 2 F B ( C) 0 0
EBEHR (C) ~ (A) %100 0.0 :
i T E T £ H O A) .4 - —
N > b & ‘ 2 3
% 2 2 F &F ¥ (B ) 0 1
2 BER (B) ~ (A) %100 0.0 ;
- (s ‘ . 50. 0
e ?'5 R 2 F &% (Cc) 0 0 -
BZEHER (C) ~ (A) %100 0.0 :
A . 0.0 33.3
: 27
) 5> b B &£ & H (B) 6 - -
H BER (B) ~ (A) *100 22.2 7 ;
= ‘ . 23.3 10.0
2 5 2 EF H ( C) 0 0
BEER (C) ~ (A) *100 0.0 0.0 ;
. 10.0
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WMER BER 2021 & 20225 % 20235 & &%
= OB ¥ £ B (A 33 35 35
= = 55 B E %M (B) 0 2 |
E g BER (B) ~ (A) %100 0.0 5.7 2.9
?”; % 55 8% &% (C) 0 0 1
BEE (C) ~ (A) %100 0.0 0.0 2.9
EE ¥ £ % (A) 33 35 35
> b B & F H (B) 0 2 1
H BEHE (B) ~ (A) %100 0.0 5.7 2.9
> b R ZFE&H M (C) 0 0 1
BEZE (C) ~ (A) %100 0.0 0.0 2.9
OB ¥ £ B (A 26 26 31
g E‘? 55 B E &M (B) ) | 3
f?j ;; BHEE (B) ~ (A) %100 7.7 3.8 9.7
4 28 55 B2 EH (C) 1 1 0
BEZE (C) ~ (A) %100 3.8 3.8 0.0
OB 2 £ B (A 26 26 31
> b B &£ FH (B) 2 1 3
B BERXR (B) ~ (A) 100 7.7 3.8 9.7
5 b R ¥ EHEH (C) 1 1 0
BEHE (C) ~ (A) *100 3.8 3.8 0.0
OE ¥ £ B O( A 19 18 19
% > 5 B &£ F % (B) 0 0 0
; BERXR (B) ~ (A) 100 0.0 0.0 0.0
5i¥ K 5 b5 B % EH (C) 1 0 0
) BZEHE (C) ~ (A) 100 5.3 0.0 0.0
fﬁ T OE ¥ E B (A 44 52 44
B ” 558 EEH (B) I | 0
& BER (B) ~ (A) %100 2.3 1.9 0.0

fjf 2 b R ¥ EHH (C) 0 1 0 145 (2021) , 14 (2023)
RBRFEE (C) ~ (A) %100 0.0 1.9 0.0
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bR S B 20214 & 20224 20234 & -k
£B OE 2 £ B O( A 107 125 124
I 55 B E %M (B) 2 1 0
if:g BEE (B) ~ (A) 100 1.9 0.8 0.0
1= > b B FEH (C) 0 5 1 |14 (2022)
F BZEE (C) ~ (A) *100 0.0 4.0 0.8
. OE 2 £ B O( A 142 146 143
= > b B & & & (B) 1 1 1
é BEHE (B) ~ (A) %100 0.7 0.7 0.7
i 5 b5 B %2 &FH (C) 2 0 0 |24 (2021)
BEZE (C) ~ (A) %100 1.4 0.0 0.0
= FEE HOE ¥ £ B O( A 130 140 120
T IE'% 5 5 B E & % (B) 1 3 3
g} ;li BER (B) ~ (A) %100 0.8 2.1 2.5
';";ri o % 55 &% &EH% (C) 2 2 1|34 (2022)
& B2E (C) ~ (A) %100 1.5 1.4 0.8
i OB ¥ £ B (A 85 104 119
A > 6 B &£ F % (B) 0 2 1
g BERXR (B) ~ (A) 100 0.0 1.9 0.8
§ 5 b5 B % EH (C) 0 2 0 |244 (2023)
BEER (C) ~ (A) %100 0.0 1.9 0.0
4 E # E F £ % (A ) 57 59 53
4 55 B F &M (B) 1 2 0
~ R BEX (B) ~ (A) *100 1.8 3.4 0.0
;j_ > 5 B F A H (C) 0 2 1 {144 (2023)
K5 BHEE (C) ~ (A) %100 0.0 3.4 1.9
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bR S B 20214 & 20224 20234 & -k
. OB ¥ £ B (A 48 54 69
#H > b B & & H (B) 1 3 1
é BEEXR (B) ~ (A) %100 2.1 5.6 1.4

EIE f‘; 5 5 R % &% (C) 2 2 1 (14 (2021) | 14 (2022)
] RBRZHE (C) ~ (A) *100 4.2 3.7 1.4
g’g " EOE % £ & (A ) 26 28 33
# n > b B & & & (B) 0 2 2
;’ BEEXR (B) ~ (A) %100 0.0 7.1 6.1

i 5 b5 B %2 &FH (C) 0 0 0 |24 (2022)

BEZE (C) ~ (A) %100 0.0 0.0 0.0
OE 2 £ B (A 658 726 724
> b B & F H (B) 7 15 8
H BEE (B) ~ (A) 100 1.1 2.1 1.1
> b R ZE&H M (C) 7 14 4
BEZHE (C) ~ (A) %100 1.1 1.9 0.6
OE ¥ £ B O( A 12 12 6
2 55 B & &% (B) 1 0 0
2 BE#E (B) ~ (A) 100 8.3 0.0 0.0
54 i > 5 B F A % (C) 0 0 0
?}} BEHE (C) ~ (A) *100 0.0 0.0 0.0
g " E ¥ £ B O( A) 4 7 5
# = 55 8EEH (B) 0 0 0
F BER (B) ~ (A) *100 0.0 0.0 0.0
fjf > bR F&H H (C) 0 0 0
BEE (C) ~ (A) *100 0.0 0.0 0.0
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bR S B 20214 & 20224 20234 & -k
OE 2 £ B O( A 5 8 4
s 55 B E %M (B) 0 0 0
% BER (B) ~ (A) %100 0.0 0.0 0.0
f-; 2 b R % EH H (C) 0 1 0
BEE (C) ~ (A) %100 0.0 12.5 0.0
OE 2 £ B O( A 5 5 7
s 55 B&E &% (B) 1 1 0
F BER (B) ~ (A) %100 20. 0 20. 0 0.0
fj 2 5B % &H H (C) 1 0 1
BEE (C) ~ (A) %100 20.0 0.0 14.3
& HOE ¥ £ B O( A 4 8 10
é = 55 B & &% (B) 1 0 0
Bt WEE BEEXR (B) ~ (A) %100 25.0 0.0 0.0
;z fé > 5 & % &H H (C) 0 0 0
# B2E (C) ~ (A) *100 0.0 0.0 0.0
g OE ¥ £ B O( A 19 19 24
¥ > b B & F H (B) 5 1 1
§ BE#E (B) ~ (A) 100 26.3 5.3 4.2
E 5 b R % FHH (C) 0 3 1
BEER (C) ~ (A) %100 0.0 15.8 4.2
= OE ¥ £ B O( A 4 5 3
* > 5 B &£ F % (B) 1 1 0
§ BEE (B) ~ (A) 100 25.0 20.0 0.0
;“; 5 b5 B % EH (C) 0 0 0
BEE (C) ~ (A) *100 0.0 0.0 0.0
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WMER BER 2021 20225 % 20235 & &%
5 OE 2 £ B O( A 6 8 6
* > b B & & H (B) 2 1 2
§ BEEXR (B) ~ (A) %100 33.3 12.5 33.3
f—; 5 b R % &F H (C) 0 1 0
BEE (C) ~ (A) %100 0.0 12.5 0.0
OE 2 £ B O( A 3 5 9
) > b B & & & (B) 0 0 1
; BEX (B) .~ (A) %100 0.0 0.0 11.1
K 5 5 B % & K% (C) 0 0 0
BEZE (C) ~ (A) %100 0.0 0.0 0.0
OB ¥ £ B (A 10 9 9
é g 558 E %% (B) 1 | 2
B 2 BEER (B) ~ (A) 100 10.0 11.1 22.2
;z i > 5 & % &H H (C) 0 1 0
BREE (C) ~ (A) %100 0.0 11.1 0.0
#t OB ¥ £ B (A 2 5 6
= 558 & % H (B) 0 0 |
i& BER (B) ~ (A) *100 0.0 0.0 16.7
= 55 8% EK (C) 0 0 0
K BEE (C) ~ (A) 100 0.0 0.0 0.0
OE ¥ £ B O( A 4 5 5
E 55 @& &8 (B) 0 0 |
F BER (B) ~ (A) *100 0.0 0.0 20.0
fjf > bR F&H H (C) 0 0 0
BEE (C) ~ (A) *100 0.0 0.0 0.0
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WMER BER 2021 20225 % 20235 & &%
OE 2 £ B O( A 7 4 5
53 - 55 B & EH (B) 0 0 0
B 2 BEE (B) ~ (A) 100 0.0 0.0 0.0
= 5 = : :
l e > 6 R FEHEH (C)H 0 0 0
BREER (C) ~ (A) %100 0.0 0.0 0.0
EE ¥ £ % (A) 85 100 99
> b B & F H (B) 12 5 8
H BEEXR (B) ~ (A) %100 14.1 5.0 8.1
> b R ZFE&H M (C) 1 6 2
BEE (C) ~ (A) %100 1.2 6.0 2.0
%AA o OB ¥ £ B (A 14 9 12
E?z E > b B & F #H (B) 1 1 0
Tﬁ P BER (B) ~ (A) %100 7.1 11.1 0.0
7 i 55 8% &% (C) 3 0 0
B BZEE (C) / (A) %100 21. 4 0.0 0.0
OE ¥ £ B O( A 14 9 12
> b B & F H (B) 1 1 0
H BER (B) ~ (A) *100 7.1 11.1 0.0
> b R ZE&H M (C) 3 0 0
BEHE (C) ~ (A) *100 21.4 0.0 0.0
E3| E ¥ £ B (A) 20
e = -
i ffi > b B &£ F % (B) 0
zl% 5 ZBaEE (B) ~ (A) =100 0.0
7 E 5 58 % F %K (C) 0
# BEE (C) ~ (A) 00 0.0
T E ¥ £ % ( A) 20
5 b B &£ FE H (B) 0
H BEZE (B) ~ (A) %100 0.0
> b R ¥ &H & (C) 0
BEZE (C) ~ (A) %100 0.0
T E 2 £ % ( A) 843 926 961
5L B & & % (B) 28 31 24
ELRRESE BEE (B) ~ (A) 100 3.3 3.3 2.5
> b R FFH H (C) 12 21 11
RBEE (C) ~ (A) %100 1.4 2.3 1.1
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<{ELRE>

HER =814 20214 £ 20224 2023F & &E
OB ¥ £ B (A 14 13 12
Uiy > b B & & H (B) 8 8 8
ié BEEXR (B) ~ (A) %100 57.1 61.5 66. 7
K 5 b B % & H (C) 1 1 1
BREE (C) ~ (A) %100 7.1 7.7 8.3
OE 2 £ B O( A 15 13 11
g > b B & F #H (B) 11 10 7
ix BEEXR (B) ~ (A) %100 73.3 76.9 63. 6
fjf > b R ¥ EHEH (C) 2 1 2
BEE (C) ~ (A) *100 13.3 7.7 18. 2
rOE ¥ £ B O( A 12 10 10
Z Lt 55 @& % H (B) 6 3 |
ot i BEE (B) ~ (A) 100 50. 0 30. 0 10.0
?’i fjf > bR FEH H (C) 0 3 2
BEHE (C) ~ (A) *100 0.0 30.0 20. 0
= T OE ¥ £ H (A ) 4 6 5
" 55 @& &8 (B) 2 3 3
ié BER (B) ~ (A) 100 50. 0 50. 0 60. 0
% 5 b5 R ® H H (C) 0 1 0
i B®2E (C) ~ (A) %100 0.0 16.7 0.0
" OB ¥ £ O (A 11 6 8
A 55 B & %8 (B) 3 1 3
= BEZE (B) ~ (A) %100 27.3 66. 7 37.5
E > b R F&H B (C) 3 0 2
RBFEE (C) ~ (A) %100 27.3 0.0 25.0
T B ¥ £ #H (A 56 48 46
> b B & &F ® (B) 30 28 22
H BEEXR (B) ~ (A) %100 53.6 58.3 47. 8
> b R FE&H H (C) 6 6 7
RBEE (C) ~ (A) %100 10.7 12.5 15. 2
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WMER BER 2021 %= 20225 % 20235 & &%
= - OB ¥ £ B (A 12 13 13
5& /g 5 b B & F % (B) 7 8 8
E g BER (B) ~ (A) %100 58.3 61.5 61.5
;:»r % 5 b R % EF K (C) 0 0 0 |14 (2021)

BEE (C) ~ (A) %100 0.0 0.0 0.0

EE ¥ £ % (A) 12 13 13

> b B & F H (B) 7 8 8

H BEEXR (B) ~ (A) %100 58.3 61.5 61.5

> b R ZFE&H M (C) 0 0 0

BEE (C) ~ (A) %100 0.0 0.0 0.0

OB ¥ £ B (A 13 13 13

g E‘? 55 B E &M (B) 9 5 5
f?j ;; BEER (B) ~ (A) 100 69. 2 61.5 38.5
4 28 55 B2 EH (C) 1 0 2
BREE (C) ~ (A) %100 7.7 0.0 15. 4

OE ¥ £ B O( A 13 13 13

> b B & F H (B) 9 8 5

H BEE (B) ~ (A) 100 69. 2 61.5 38.5

> b R 2 HF H (C) 1 0 2

BEHE (C) ~ (A) *100 7.7 0.0 15. 4
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bR S B 20214 & 20224 20234 & -k
OE 2 £ B O( A 7 4 2
% > b B & &F & (B ) 2 2 1
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